. Math 2110Q - Multivariable Calculus Section 13.2-13.3 Worksheet
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1. Find the derivative of r(t) = JL_Hi + ﬁ{j + %k.
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2. Find the parametric equation for the tangent line to the curve with the given parametric equation at
the specified point:
12
z=¢', y=te' z=te" (1,0,0).
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3. Find the length of the curve r(t) = 12ti + 8¢3/2j + 32k for 0 < ¢ < 1.
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4. Let C be the curve of intersection of the para.bohc cylinder z? = 2y and the surface 3z = zy. Find the
exact length of C from the origin to the point (6,18, 36).

(Hint: Let z = ¢ to find the equation of the curve.)
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